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Directions : (Q 14-17):- Choose and mark the correct preposition, out of the four chmces given below,
to be filled in the gaps:- ‘

Sachin Tendulkar was endowed ............. an extraordinary sporting talent.

(A) with (B) in (C) at , (D) upon-
15. The Indian economy is beset.. problems at present. ,

, (A) of (B) thh , (C) off (D) upon
16. Heis covetous ......... allkinds of worldly possessions.
_ (A) upon - B) with (€) of D) off
17. The thieves barged.......... my ¢ office lastnight.
(A) within - B) to (©) of (D) into
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Dlrectlons (Q.18-21):- Choose and mark the correct synonym of the given word out of the four given

options:-
18. Covert: S T

(A) secret (B) intense (C) open | (D) direct
19. Feint:- Eiiey i S N |

(A)  faint " © (B)  deception (C) toreconstruct (D) * to praise somebody
20. Interment - - -

(A) intermittent B) entertainment (C) entombment (D) - interval
21. Kindle:- g o :

(A) fight - (B) reconcile  (C) hide (D) ignite
Directions: (3.22-25:- Choose and mark the correct form of the indirect narration of the followmg sentences
out of four given options:-

22. Hesaid, “ Alas ! [ am undone.’
~ (A) Heexclaimed with grief that he was undone.
(B) He shouted that he was undone.
(C) He cried that he has been undone.
(D) Heregretted thatI wasundone.
23. Hesaid to him, ¢ Is not your name Khalid?’ Rk i
(A)  Hesaidthathisname wasKhalid. ~ (B) He inquired whether his name was not Khalid.
(C) Heaskedis his name was not Khalid. (D) Heasked why his name was Khalid.
24. She saidto him, I don’t believe you.’ ' ‘
(A) Shetold himthathe did notbelieve her.
B) She asked him if she believed him.
(C) Shetold him that she did not believe him.
(D) She asked him whether she could have believed him.
25.  Isaidtoyou, ‘ Idon’t believe you.’ ; ‘
(A) Itold him that he did not believe h1m (B) Tlinquired ifhe could believe rhe. ,

(C)- Itoldthathe does believe him. -~ (D) ItoldyouthatIdid not believe you.
26. 'Who was the Guru of Bhai Ram Singh? : :
- (A). KartarSingh . (B)  Shyam Singh (C) ParamSingh - (D) - Balak Singh
27.  Maich the following: :
’ Sites - Location
1 Hari Ke-Pattan a.| Sangrur
2 Bansar Garden b.]  Taran Taran |
3 | AamKhasBagh c| Kapurthala
4 | ShalimarBagh d.| Sirhind

(A) 1b,2a,3d,4c (B) 1b,2a,3c,4d (C) 1la,2b,3d,4c (D) 1a,2b,3c, 4d

(Contd.)
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28.

29.

Find the correct statement/s

() Punjabiis 2™ official language in Delhi, Haryana and Jammu & Kashmir
(i) Punjabi is one of the 22 languages with official status in India

(i) Punjabiis 2™ official language in Haryana, Himachal and Delhi

(iv) ‘Punjabi has first language status in Chandigarh

(A) i,ii,andiv (B)  ii,iiiandiv (C) allthefour (D) iandiv
The Sikh Guru who was born and died at same place |
(A) GuuHarKrishan (B) GuruTeg Bahadur
(C) GuruHarRai (D) - GuruHargobind

30.

On the basis of census 2011, find the correct statement/s

- @) Sexratio in Punjabis 940

31.

32.

33,

34.
35.

36.

@) Literacy in Punjabis 76.68%
@ii) Urbanizationratio in Punjabis 29.55%
(iv) Areaunder forestin Punjab is 20.64%

(A) iiiandiii  (B) iiandiii (C) i iliandiv ©) i ijiiandiv
Which of the following cities are situated on the banks of the river Beas? ”
(A) Dasuyaand Mukerian (B) Dhilwan and Kapurthala

(C) Goindwal Sahib and Sultanpur Lodhi (D) Sri Hargobindpur and Taran Taran
Punjab Produces ' _ '

(A) 5% of world’s cotton, 5% of wheat and 2% of rice

(B) 2% of world’s cotton, 2% of wheat and 1% of rice

© 3% of world’s cotton, 7% of wheat and 2% of rice

(D) 1% of world’s cotton, 8% of wheat and 4% of rice

The historic ‘Khidrane dee dhab’ is now known as.

(A) Anandpur Sahib (B) Fatehgarh Sahib

(C) Muktsar Sahib (D) Taran Taran Sahib

Which one of the following is not a recipient of Padma Vibushan award for the year 20137

(A) ShabanaAzmi (B) SH.Raza  (C) YashPal ‘(D) R.Narsimha
Name the magazine which has been circulated on board Indian Airlines after replacing ‘Swagat’
(A) Cosmopolitan ~ (B) Darpan (C) Welcome @) Flying World

As per the National Sample Survey Organisation findings released in June 2013, with regard to monthly
per capita expenditure, which of the following states comes into the first three?

 (A) Maharashtra ~ (B) Gujarat (C) Kerala (D) Madhya Pradesh

37.

38.

-39,

India is the largest producer and consumer of ,

(A) tea (B) coffee (C) sugar (D) paddy

Bharat Ratna was discontinued on 13 July, 1977. In January 1980 Prime Minister Indira Gandhi decided
to revive this award. After the revival who was the first recipient? _

(A) VinobaBhave  (B) Mother Teresa (C) Satyaj itRay (D) Prof. Amartya Sen
India made successful test flights of Unmanned Air Vehicle (UAV) at Kolar, near Bangalore, named

" (A)  Arun (B) Nishant (C) Vijayanta (D) Lakshya

S-VA:
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40.
41.

42.

43.
44.
45,
46,

47.

48.

The decimal « currencysystem started inIndiafrom ~ F TR R ‘
(A) April 1957 (B) January 1955 (C) Apn11951 o (D) Apn11955

Tanks are manufactured at SR
(A) Kanpur (B) Chittaranjan (C) Perambur (D) AVadJ
Which languages of India belong to Dravidian family? '
(A) Languages of Northern India’ - “(B)  Languages of Southern Ind1a :
(C©) LanguagesofEastemIndia (D) Languagesof Westen Indra ;
Census 2011 was _Indian Census aftet its independence '
" (A) Fifth B) Sixth ~(C) Seventh ~®)mm
Which Amendment Bill extended life of Lok Sabha to 6 Years and whrch Amendment Bill restored it to
5 Years? o
A) - 42nd and 43¢ (B) 44" and 47“f (C) 42 and44?“, . (D) 42“d and 45th
‘Whowas political guru of Father of Nation? : S
(A) Malviya (B) Gokhale = (C) Dadabhai Naoroji (D) ' Sardar Patel
A person of which of the following ‘blood groups can receive blood of any group? »
@A) A B AB (O B e “(D)ﬁOx“”‘
Venturi tube is used for R e
(A) measuring intensity of earth quakes (B) " measuring specific gravity =~
(C) measuringdensity - , (D) measuring flow of fluid
‘Bankim Chandra ChatterJ ee is the author of * Vande Matram’ the natlonal song of’ Indla, taken ﬁom his
- book
(A) Anand Math B) Kapal Kundala (C) Vish Vnksha i '(D)f‘ DurgeshNandlm
“ISRO stands for R A

49

50.

51.

(A) - International Scientific Research Orgamsatlon

(B) Indian Salt Research Organisation

(C) Indian Space Research Organisation

(D) International Space Research Organisation :

The preﬁx plus (+) before the zones to the west of Internatronal Date Line mdlcates

(A) the number of hours to be subtracted to obtain the Greenwich time - ‘

B) the number of hours to be added to obtain the Greenwwh time

(C)" aconvention ' S

(D) noneofthese :

Fill in the blanks from the alternatives glven below. The mlssmg terms are g1ven in same order in the ,
givenalternative: :

“Z . 25YB23XC-W_ 19 E17

52.

S-V/A

@) A2L,DV B A2,CV (© XﬂCWVT ®) X27,EW

Select the pair out of* followmg which has same relatlon as the grven palr of words.
Given pair Hospltal Doctor™ :

(A) Armmy:Soldier S (B) “School : Teacher

(C) Lawyer: Court k o (D) College: Student

, g | (Contd.)



53.

54.
55.
56.

* .are put in the end and the remaining letters are arranged from the first letter onwards. The rearranged.

57..

58.

59.

60.

Select the group of words that has same relation as in the given group

~Givengroup: Studio: Mumbai : Stars

(A) Ship: Madras : Harbour (B) Oranges:Nagpur:J uice

(C) .Parliament : Delhi : Ministers - D Sunrise : Darjeeling : Sherpas
Find the odd one - ' : : '

@ Ant (i) Bee (i) Moth (iv) Midge  (v)Spider

@& O ®) . (i) ©) @) : D)

Out of four pairs below, three have certain relation. Find the pair which has differént relation
() -Stale:Fresh () Truth: Lie (i) - Slow: Sluggish (iv) Kind: Cruel

@A) @ B @ © @ O @)

In a coding language, the letters of English alphabets are arranged in such a manner that all the vowels

alphabets are used to denote the position occupied by letters in the original alphabets. What is code of

-META?

Ay TEAM B PWLYV (C) LWPV ® QGYB

Rewrite the word VOCALIST in the numeric form by writing its four letters in the reverse order and
then the next four letters in the reverse order by substituting: '
Iby8,0byl,Lby3,Tby2,Vby5,Sby 7, Aby 9; and C by 6.

A 92156873 B) 96152783

S (C) 92516783 ©) 92156783 S

In a certain code, ‘lee ra de” means ‘what was it’, ‘mo nil’ means ‘you go’, ‘nil pom ra’ means ‘you like

.. it and ‘tok lee fo’ means ‘she was sick’. How will you write ‘what you like’ in that language?

(A) denilpom (B) nilralee (C) pomnilra (D) datainadequate
Kamal says, “Ravi’s mother is the only daughter of my mother”, how is Kamal related to Ravi?
(A) grandfather (B) father (C) matemaluncle (D) brother

Examine the following relationship among the family of six persons A, B,C,D,E and F.
(@  Thenumberof males equals that of females

@) AandEaresonsofF - :

i) BisthesonofA E

(iv) Disthemother of two, one boy and one girl

(v)  Thereis one married couple in the family at present.

Which one of the following inferences can be drawn from the above?

D (A).< A, Band C are all females (B) Aisthehusband of D

61.

S-I/A

(C) Disthe granddaughter of F . O) - E-and F are children of D
If*A $ B’ means ‘A is brother of B’, ‘A @ B’ means ‘A is wife of B’, ‘A # B’ means ‘A is daughter of
B’ and ‘ A+ B’ means ‘A is father of B’, then which of the following expressions indicates the relationship:

‘K is father-in-law of H*? | A
(A H@J$SL#P+K ®) H@J$P+L#K

(C) H@JSL#AK+P ©) H@P$J+L#K

7 (Contd.)



62.

Kalyani is mother-in-law of Veena who is sister-in-law of Ashok, Dheeraj is father of Sudeep, the only
brother of Ashok. How is Kalyani related to Ashok? ‘ A BT R
(A) Cousin B Wife (C) At o Dy Mother

Study the following information to answer Q.Nos. 63-64

63.

64.

65.

P,Q,R,S, T, U,V and W are eight friends sitting around a clrcle facmg to centre
() Wisonthe immediate left of P but is not the nelghbour of TorS o

(i) Uisonthe immediate nght of Qand V is the nerghbour of T

@iy Risbetween T andU

Which of the followmg statements is true ?

A) Tis between UandQ , (B) - Uistheneighbour of V
(C) Vis between Wand T © W yis'between PandS
What is position of S? B R ' i -

(A) onthe immediate left of Q R (B) ‘second to right of U

(C)  between Qand U : - (D) ontheimmediate left of P

Six people- Rohit, Suneet, Deepak; Vikas, Kanak and Manick-were all bornon the same day ofthe

year, but each was born in a different year, during a smgle sur-year period.

@ Rohitisolder than Deepak
(i) - Suneet is older than both Vikas and Kanak
(i) Manick is 2 years older than Vikas

(iv) " Rohit was born either in 1962 or 1963

(v) - The'oldest member of group was born in 1960

- IfManick is the oldest of the group, then which of the following must be true?

66. .

67.

68.

S-UA

(A) Deepak was b_orn in1964  (B) Rohitwas born in 1962

(C) Vikas was born in 1961 ) (D) Suneet wasbornin 1961 -

FivemenA, B, C,DandErcada newspaper The one who reads first gives itto C. The one who reads
last had taken from A. E was not the first or last to read. There were two readers between B and A.
B passed the newspaper to whom? ‘ ,

@ A . o® ¢ ©p  ® ‘E

Study the following information and answer Q. Nos 67-68 ,

Onaplaying ground Dinesh, Kunal, N1t1n Atul and Prashant are standmg descnbed below facing the
North

® ~ Kunal is 40 metres to the nght of Atul - (11) Dineshis 60 metres to south of Kunal

(i)  Nitinis 25 metres to west of Al (@) Prashant is 90 metres to North of Dinesh
Who is to the North-east of the person fwho istoleft of Kunal?
(A)  Dinesh (B) Nitin (C) Al ROt (D) ~ Prashant.

If a boy walks from Nitin, meets Atul followedby Kunal, Dinesh, and then Prashant, how many metres
has he walked if he has travelled the straight distance all through? ' G
(A) 155metres  (B) 185metress (C) 215metres D) 245metres

8 ' (Contd.)
e



69.

70.

71.

72.

73.
74.
75.

76.

77.

S-I/A

A direction pole was situated on the crossing. Due to an aceident the pole turned in such amanner that
the pointer which was showing East, started showing South. One traveller went to the wrong direction
thinking it to be West. In what direction actually he was travelling?
(A) North B) South (C) East D) West
Amit walked 30 metres towards East, took a right turn and walked 40 metres. Then he took a left turn
and walked 30 metres. In which direction is he now from the starting point?
(A) North-East (B) East (©) South-East (D) South
A clock is so placed at 12 noon that its minute hand points towards North-East. In which direction does
its hour hand point at 1.30 pm? '
(A) East (B) North (C) South (D) West
Study the following diagram and answer Q.Nos. 72-74

T

Circle S stands for households having a Scooter

Circle T stands for households having a T. V. set

Circle W stands for households having a Washing Machine

Circle C stands for households having a Car

Households having Scooter, T.V. set and Washing Machine and not a Car are represented by the

region: : .
@) 4 ® 7 © 1 @) 12

Households having a Car, Washing Machine, T.V. set but not a Scooter are represented by the region:
A\ 7 - B) 8 © 9 - (D) None of these
Households having T.V. set only are represented by region

A 13 B 2 © 1 D) 12

If the position of the 5% and 12% letters of the word GLORIFICATIONS are interchanged, and
likewise the positions of 4" and 14® letters, the 3* and 10* , the 2** and 11* Jetters and 1% and 13
letters are interchanged, which of the following will be the 12 letter from the right end?

GV ® O © R O T

Each ofthe vowels in the word ‘MAGNIFY” is replaced by number 2” and each consonant is replaced
by anumber which is the serial number of that consonant in the word i.e. M by 1 and G by 3 and so on. |
What is the total of all numbers once the replacement is completed?

A 22 B) 24 ' © 25 D) 26

If each of the vowels in word OVEN is changed to the previous letter in the English alphabetand the
consonants are changed to the next letter of alphabet, how many meaningful words can be formed with

new letters using each letter only once in each word?
(A) one ®B) two (C) three (D) more than three

9 ' ’ (Contd.)
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78.

79.

80.

Q.Nos. 78-79 are based on following arrangements
JY2=S%+EGM-78HPIKLB@WQ13#CDao :

Three of the following four are alike in a certain way based on the positions of elements in the above
arrangement and hence form a group. Which one does not belong to the group?

A 2YCD B %SI3 O ISe3 o (D) =#2C
2YSistoEG % inthe samewayas PHK isto_ o » ot
@A wWQp - B @WL © @BQ - O @WK

On the basis of following arrangements, answer Q.Nos. 80-81
YW@1+CN3PLB9T=D*E2+MV§7#4FGS5

If YW @ 1 are written in reverse order, ~C N 3 are written in the reverse order and soon,thenin
the new arrangement wh1ch of the following will be exactly in the middle of between 9 and $?

NGV ® = - © Db . OrM

81.

If (A) denotes the number of symbols immediately preceded by a number, (B) denotes the number of
letters immediately followed by a symbol and (C) denotes the number of lctters either not immediately

~ followed by a number or not immediately preceded by a letter, then which of the following is the

82.

83.

84.

85.

86.

ascending order of the numbers denoted by (A), (B) and (C)?

@A) ©A)B) ® ©.B)x» © GO®W D) B),@®,©O)
Answer (3.Nos. 82-83 with the help of following information.

A person is asked to put in basket one apple when ordered ‘one’, one guava when ordered ‘Two’, one
orange when ordered ‘Three’ and is asked to take out from the basket one apple and one guava both
when ordered ‘Four’. The order sequence executed was | i
12332142314223314113234°

How many fruits will be in the basket at the end of the above order sequence‘7

A 10 : ®B) 11 © 12 . Oy 13
How many guavas will be there in the basket at the end of the above order sequence?
@A 1 ‘ ®) 2 - © 3 : D) 4

Inarow of gils, there are 16 girls between Priya and Natasha. Priya is 32 from the left end of the row.
If Priya is nearer than Natasha to the right end of the row, thenhow far away is Natasha from the left
end of the row? e :

(A) datainadequate. (B) 14% (C)' 1 5th L ® 16"

A monkey climbs 30 feet at the beginning of each hour and rests for a while when he shps back 20 feet
before he again starts climbing in the beginning of next hour. If he begms hxs ascentat 8 00 a.m., at what
time will he firsttouch a flag at 120 feet from the ground? - ,

A 4pm. @B Spm o (C) 6pm. - (D) noneofthese

On the basis of first entries, fill in the blanks in 2% i : i

1017 43
38
g
¥ |
@) 127 ® 142 ©) 198
‘10 (Contd.)
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87.  Replace the question mark with suitable number

3 .2 2
6 20 4
12(» 25 64
6 ‘10 ?
® 6 ® 8 © 10 ® 12

- 88.  Find the value of ‘X’ in the following Figure.

33 2
27 2

321 X
1819

22 11
12| 3

W 12 ®) 3 © 3 © 4

89.  Which part of Answer Figure will come after figure ‘e’ of Problem Figure in Q. No. 897

Problem figure Answer figure
teees ol . eoe ® ol H ¢
H R I 'l |
% svee| g 3 _ {E
a b ¢ d e 1 2 3 4 5
@ 1 ® 2 © 4 D) 5
90. Which part of Answer Figure will come after figure ‘d’ of Problem Figure in Q. No. 90?
_ Problem figure Answer‘ figure
a b c d 1 2 3 4
A 4 ® 3 © 2 ®) 1

S-VA Sy (Contd.)



91. Find the minimum number of straight lines to make following figure:

) 11 B) 14 © 16 D) 17
92.  Which one of the following collections of letters will look the same in mlrror?

@ OSHMIHOM

() VHRTRVH

Gy HIMOSTA

(v AOVIVOA

@ O ® @ © G ® @
93. A clock seen through a mirror shows quarter past three. What is the correct time?
(A) 945 @) 9.15 ©) 845 D) 3.15
94. Replace the question mark (?) out of Answer Figure. :
Problem Figure Answer Flgure
E i e v—NE«‘—-\..JA~ PR r v.ug,..;.-,.;..av,k ; "
Rl QP |
w2 R S R
[ l { o o i = s ;
@ 1 ® 2 © 3 D 4

Information for Q.N0s.95-96 ;
A painter is given a task to paint a cubical box with 6 dlfferent colours for6 dlffcrent faces of the cube The
detailed account of it was given as: '
i  Redfaceshould be between Yellow and Brown faces
fi.  TheGreen face should be adjacent to the Silver face.
ii.  Pink face should be adjacent to the Green face
iv.  Yellow face should be opp051te to the Brown one
v.  Brown face should face down
vi. - Silver and Pink faces should be opp051te to Brownone
95. The upper face is

(A) Red ®B) Pink = - (©) ‘Yellow o (D) Silver
96. Three faces adjacent to Red face are : :
(A) Silver, Green, Brown (B)  Silver, Brown, Pink
(C) Silver, Pink, Green, (D) Yellow, Pink, Green
S-VA Lo12 \ (Contd.)



97.

Four usual dice are thrown on the ground. The sum of numbers on the top faces of these four dice is 13
as the top faces showed 4,3, 1 and 5 respectively. What is the total of the faces touching the ground?

A 12 ' ®) 13

98.

99.

((?) 15 , : (D) cannot be determined
Given below are three different positions of a dice. Find the number of dots on the face opposite the
face bearing 3 dots.

A) 4 ®B) 5
<) 6 (D) Cannotbe determined
How many times are the hands of a clock at right angle in a day?

@) 22 ' ® 24 - ©) 48 . D) 44

100.

101.

102.

103.

104.

105.

106.

S-I/A

Find the wrong term in the following series

1,5,9,15,25,37,49

@A) 9 ® 15 © 25 ® 37

There are four prime numbers written in ascending order. The product of first three is 385 and that of
last three is 1001. The 3% number is '

A) 3 ® 5 © 7 , ®) 1

Find the greatest number of 4 digits and the least number of 5 digits that have 144 as their HCF.
(A) (9936 and 10080) : B) (9999 and 10000) :
(C) (9972 and 10062) D) (9992 and 10012)

An electronic device makes a beep after every 60 seconds. Anothér device makes a beep after every
62 seconds. They beeped together at 10 a.m. The next time when they would beep together at the

earliest, is

(&) 1030am.  ®) 103lam. - (C) 10.59am. O) 11.00am.

335x 212x 4225+ 225 735 = (21!

A 8 ' ® 10 © 125 D) 6.5

Assink contains exactly 12 liters of water. If water is drained from the sink until it holds 6 liters of water
less than the quantity it drained away, then how many liters of water were drained away?

@A) 2 ® 3 © 6 O 9

On the children’s day sweets were distributed equally among 540 Children. But on that day 120 children
were absent. Hence each child got 4 more sweets. How many sweets were to be distributed to each
child originally? ) : .

(A) 18 B 20 (C) 14 D) 25

13 ~ (Contd)



107..

108:
109.

110.

111.

While solving a problem, Som squared a number and then subtracted 25 fromiit rather thanthe required, -
i.e. first subtracting 25 ﬁom the number and then squarmg it. Buthe: got the nght answe, What was the

glvennumber'7 o L
@A) : B ®) 38 :
(9F 48 IR P (D) cannotbe determined

119683 =2x 3

A 3 ® 9 © 27 ' (D) 90‘

The average of four positive integers is 72.5. The hlghest integer is 117 and the lowest integer is15.The
difference between the remaining two mtegers is 12.Which is the higher of these two remaining integers?-
@ 70 - ® 73 (©) 84 : D) 85 '

In a three digit number, the digit in the unit place is 75% ofthe digit in ) the tens place. The d1g1t inthe tens
place is greater than the digit in the hundreds place by 1. Ifthe sum of the digits in the tens place and

hundreds place is 15, what is the number?

(A) 687 o o ®) 786

(C) 795 R (D) Cannotbe deterrnmed ‘ L
15.years hence, a man will be just 4 times as old as he was 15 years ago. His present age st -

(A)  25years ®) 20 years (C) 15years - (D) 10years .

112.

If x =3 + 242, then (x* +—4)=?

(A) 1024 . B 1154 (© 1734 D) noneofthese

113.

114.

115.

Fresh grapes contain 80% water while dry grapes contain 10% water If the welght of dry grapes is
250 kg, what was its total weight when it was fresh? o L
(A) 1000kg (B) 1100kg (O 1125 kg - (D) 1225 kg

'A drshonest shopkeeper pretends to sell his goods at cost price but uses: false werghts and gains: l 1 %

For a weight of 1 kg, he uses L ; ) N

(A) aweightof875gm \ (B) aweightof900gm

(C) aweight of950gm o (D) none ofthese B : ‘

The ratio of the number of students studying in school A, B and Cis 5:6:8.1fthe number of students in
each of the schools is increased by 30%, 25% and 25% respectrvely, what will be the new ratio of the
students in schools A, Band C?

A 1411520 ®) 131520  (©) 31415 (D) 15{17:19

116.

117.

S-VA -«

A, B and C start a business, each 1nvest1ng Rs.20000. After 5 months A withdrew Rs. 5000, B
Rs. 4000 and C invested Rs. 6000 more. At the end of the year, a total proﬁt of Rs. 69900 was
recorded. What is the share of B?

(A) "Rs.21200  (B) Rs. 20500 (C) Rs 27300 (D) Rs. 28200~
Acontract is to be completed in 46 days and ll7 men were set to work each workmg 8 hours aday.

4
After 33 days 2 of the work is completed How many addltlonal men may be employed sothat the

work may be completed in time, each man now working 9 hours a day?
(A) 83 | ®B) 82 . © 8 D) 80
' B 14 (Contd.)



~ 118.

* Two pipes A and B can fill a tank in 15 minutes and 20 minutes respectlvely, both the pipes are opened "

- together. But after 4 minutes, pipe A is turned off, What is the total time required to fill the tank? -

119.

120.

(A) 10 minutes 20 seconds (B) 11 minutes45 seconds
(C) 12 minutes 30 seconds (D) 14 minutes 40 seconds »
Sunil covers a distance by walking for 6 hours. While returning his speed decreases by 1km/hr. and he

takes 9 hours to cover the same distance. What was his speed in return Jjourney?

A) 2ka/hr. B) 3km/hr.

(©) Skm/hr . (D) cannotbe determined S

Two trains A and B start runmng together from the same point in the same dlrectlon at 60 km/hr. and
72 km/hr. respectively. If the length of each train is 240 metres, how long will it take for the train B to
cross train A? o=

" (A) lminutel2 seconds B) 1 minute24 seconds

121.

122.

123.

(C) 2 minutes 12 seconds (D) 2 minutes 24 seconds

The value of a machine depreciates every year at the rate of 10% on its value at the beginning of that
year. If the present value of the machine is Rs. 7290, its worth 3 years ago was '

(A) Rs9471 - (B) Rs.8000 - (C) Rs.10000 (D) Rs.7508.70

The areas of two similar triangles are 12cm? and 48cm?. If the height of the smaller one is2.1cm, then
the corresponding height of the biggeroneis =~ _ - '
(A) 0.525cm’ ‘(B) 42cm (C) 4.4lem - (D) 8.4cm

A rectangular tank measuring 5m X 4.5m % 2.1m is dug in the centre of the field measuring

©+13.5m % 2.5m., The earth dug out is spread evenly over the remaining portlon of'the field. How much s

124.

125.

126.

127.

thelevel of the field raised? v .
(A) 4m - (B) 41m (C) 42m D) 43m
A man arranges to pay a debt of Rs. 3600 by 40 annual installments which are in arithmetic progression

*" (A:P.). When 30 of the installments are paid, he dies leaving one-third of the debt unpald The value of

8% installment is
(A) Rs.35 v B) Rs.50 (C) Rs.65 : D) none of these '

cos 60° +sin 60°
“c0s'60° —sin 60°

@ -(Ery ® -l © (3-2) ©) (B3+2)]

The process of rewriting parts of a file in contiguous sectors on a hard disk to increase the sp¢¢d of

-access and retrieval is known as

-(A) . Format : (B) Defragmentation
(C) - File Allocation Table (FAT) (D) - Configuration
Following table indicates typical values of storage and processor speed for currently ava11able computers
Type - Processor . Hard Disk : : :
Capacity/ Speed X Y
: Approximately X and Y can be respectively: S
(A) 3GB,300GB ‘ B) 3MHz,300MB
(C) 3GHz,300KB ' - (D) 3GHz, 500GB

S-VA
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128.

129.

130.

Which of the following statéments is s false?
(A)  Datadictionary is also known as system catalo g

-(B) The information stored in data dictionary is called meta data ‘

(C) Datadictionaryisa centrahzed store of information about the database.

(D) Data dictionary stores information contained in various tables of the database.

Suppose in MS-Excel sheet, cell A1:A4 contain the following property values for four homes:
Rs. 100000, Rs. 200000, Rs. 300000, Rs. 400000, respectively. Cell B1:B4 contain the following
sales commissions on each of the corresponding property values: Rs. 7000, Rs.14000, Rs. 21000,
Rs. 28000 Then value of SUMIF(AI :A4,">160000", B1:B4)equals

(A) Rs.63000  (B) Rs.70000  (C) Rs.1000000 - (D) Rs.900000
What will be the result if you type =Al-B lincellC1?

(A) YesorNo , : ~ (B) TRUEorFALSE

(C) ValueofAl R (D) Valiic of B1

Directions for Q. Nos 131-132 ‘

131.

132.

133.

Assume the followmg datai 1n an MS-Excel sheet for questlon numbers 131l and 1 32

k Whmh ofthe followmg wﬂl return the hlghest value in thls  givens set of’ Values‘?

(A) LARGE(AL:E2) (B) LARGEST(ALEE2)
(C) MAX(ALE2) (D) MAXIMUM(ALE2)

-What will be the result of formula “‘ROUND(SUM(AI El),1)” if typedin cell F17

(A) 4435 - B) 443 O 444 (D) 4430
Assume the follow'mg data inan MS-Excel Sheet :

+ Ifuser Wants a value asin cell A2 denved usmg datain Al and B1, then which formula he/she should

use? -
(A) =Al&"=Rs."&Bl © (B) ‘=Al&"=Rs."&BI "
(C) =Al+"=Rs "+Bl (D) ‘=Al+"=Rs."+Bl -

134.

'<A) 2] 33 ‘ ® [1274

S-VA

Assume a word document has data : 12733744755
If the users convert this text to table using Number of Rows and Columns 2 eachand separate text at
> as the settings, then the output table will be '

a4 | 55 , : 33’ 55 ’ g
(C) | 127 33? , (D) | 122} 447
4471 55 , SR A 33?21 55
16 ' (Contd.)



135.

136.

137.

138.

139.

Which of the following is an invalid e-mail ID ?
(A)  gmail@gmail.com (B) gmail[AT]yahoo.co.in
(C©)  gmail@hotmail.com (D)  gmail@india.in

In MS-Word, which of the following margin is generally used for the binding of printouts to ensure the
text should not obscure?

(A) Top/Bottom (B) LeftRight (C) Gutter (D) None ofthese

In MS-Word you want to type “WrengText, . Which of the following font effects will be used?

A) | Strikethrough and Subscript (B) Strikethrough and Superscript

(C) Double strikethrough and Supetscript =~ (D) Double strikethrough and Subscript

Suppose Hanging Indent Marker ( z_ e85 =) is not visible in MS-Word. It can be made visible
using;

(A) View Thumbnails option - (B) ViewGridlines option

(C) ViewDocument Map option (D) View Ruleroption

In a MS-PowerPoint presentation there are 100 slides. You do not want to show as well as delete slide

* number from 30 to 50 during your presentation. How this can be performed?

140.

141.

142.

143,

S-VA

(A) Create ‘Custom Slide Show’ excluding slide number from 30 to 50

(B) Only option s to delete slide number from 30 to 50

(C) Keepslide number from 30 to 50 after the last slide.

(D) Thisisnotpossible.

Assume that you forgot the password given to enter into the BIOS settings of your computer. How it
can be reset? :

(A) Computer needs to sent to be BIOS manufacturer

(B) Password can be changed using Windows operating system.

(C) BIOS Password cannot be reset

(D) Remove battery of motherboard and then again install the same.

Which of the following is Free/Open Source Operating System?

(A) MS-Windows7 (B) Limx ©) MACOS (D) None of'these

In a presentation prepared using MS-PowerPoint, you want to include your e-mail ID at the bottom of
every slide. Which of the following is the most appropriate way to insert it?

(A) Usemaster slide to insert the e-mail field

(B) Insert e-mail on each slide separately _

(C) Use footer part of each slide to insert e-mail ID

(D) Itisnotpossible |
What is the meaning of putting your laptop using MS-Windows operating system in hibernate state?

(A) Stores open files & settings in RAM and goes to sleep mode
(B) Stores open files & settings in RAM and turns-off the laptop
(C) Storesopen files & settings in Hard-disk and goes to sleep mode
(D) Stores open files & settings in Hard-disk and turns-off the laptop.

17 (Contd.)
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144.

145.

146.

147.

148.

149.

150.

S-I/A

Which of the following is not a web browser?

(A) MozillaFirefox s (B) - Internet Explorer

(C) MS-FrontPage Fes (D) Google Chrome

Main function of usinga UPS is to: ' : B

(A) increase I/O speed

(B)  increase the processor speed :

(C) provide backlip‘ power in the ‘eVent of main'power failure

D) increase the storage capacity of acomputer system

Which of the following would best fit the following des¢ripti()n? '

Software is copied & givento a friend without permissiént of the copyright owner.

(A) freeware (B) piracy (C) shareware (D) public domain

A is-a network that connects computers in a limited geographic area, such as a school
computer laboratory, small office; or computers at home. . '

(A) Localareanetwork (LAN) . (B) Wideareanetwork (WAN)

(C) Partial areanetwork (PAN) - -+ . (D) Boundless area network (BAN)

In most Personal Computers, micro processor, device drives, memory expansion slots and active
components are mounted on a single board. What is the name of this board?

(A) Breadboard o - (B) Daughter board

(C) Motherboard - (D) Grandmother board s
To host a web site which of following is required? :

(A) Web Server (B) Exchange Server

(C) Mail Server - (D) Database Server
A method of ensuring integrity of a document it

(A) Firewall (B) SSL (C) Authentication (D) Digital Signatures

18 (Contd.)



S ‘ (Punjabi Version)
1. ‘gewt wue erfeddt maw d:

(A) gy B) wwHt (€) Gur B
2. ‘IS gsT € e I - O
(©) BT O) fusgs wET g9 e
3. ZHT, H9T, A'gT HET o1 9%
| @ st B) uss'E © ferms . (D) fafeur feRme
4. ¥ ree faforr & fagat fomn ‘ IR
(A) Awngal fafenr ®) waeHa fafam
(C) wdaHa fafemr D) Wy fafeur
5. ‘st T S T o
(A) wyTE B T - (C) HO=T »O) =TdwH
6. HU FET-dF 9 '
(A) - IS ‘®) famrs C) TwE D) IS
7. o fefumt ' femms g2 - .
(A) utsT/gE/ger/aET (B) Ue/ale/ Ua™T
() HfFea, ufena/ wifizng O Gv/fev/3
8. gt fqos g9 feg ist adt & :
(A) TYgHET B) ufenrsr (C) T (D) whsSAT
9. gyt a3 , , o
‘ (A) FH B ) faut (D) Qu-gwr
10. . ‘yate’ mue o fegdt mEw @<
: (A) fAT-yTar (B) THI ©) feeor (D) ug=T
11. ¥CH93, HEHTH, YT, I HEE ©TIT WWUWU
(A) W= (B) Fed (C) - Uas (D) aHB™
12. =t fegusste e o al &g ger d: ’
(A)vmggaw@@mu—eﬂ (B) erwaemﬁuwaﬁtﬁl
(C) =Tamyd Ifa A I5 | (D) TFYI I AE IS
13. usste @t famit ©F:
@t U ®) A3 (C) »& O®) &
Directions : (Q 14-17):- Choose and mark the correct preposition, out of the four choices given below,
‘{0 be filled in the gaps:-
14. Sachin Tendulkar wasendowed an extraordinary sporting talent.
(A) with (B) in (C) at - (D) upon
15. The Indian economy is beset.........problems at present. '
A) of ®) with (C) off (D) upon
16. Heiscovetous ......... all kinds of worldly possessions _ _
(A) upon B) with (C) of (D) off

S-VA 1.9 (Contd.)



17. The thieves barged.......... my office last night. -

(A). within B) to . (C) of o @) o
Directions : (Q.18-21):- Choose and mark the correct synonym of the given word out of the four given
options:- : ‘

18. Covert:- a “ ST

(A) secret (B) intense “(C) open © (D) direct
19. Feint:- : F ~ g ‘

(A) fant (B) deception (C) toreconstruct (D) to praise somebody
20. Interment:- : : = : | e

(A) intermittent (B)  entertainment  (C) entombment (D) interval
21. Kindle-. | o S

(A) fight (B) reconcile (C) hide D) ignite

Directions: (Q.22-25):- Choose ‘and mark the correct form of the indirect narration of the following sentences

out of four given options:-

22.

23.

24.

25.

26.

27.

He said; ¢ Alas ! Tamundone.’

(A) Heexclaimed with griefthat he was undone.

(B) He shouted that he was undone. -

(C) He cried that he has been undone.

(D) Heregretted that I was undone.

He said to him, * Is not your name Khalid?” - : S
(A) Hesaid that his name was Khalid. (B)  He inquired whether his name was not Khalid.
(C) Heaskedis his name was hot Khalid. (D) Heasked why his name was Khalid.
She said to him, * 1 don’t believe you.’ o B :

(A) Shetold him thathe did not believe her,

(B) Sheasked him if she believed him.

(C) Shetold him that she did not believe him.

(D) She asked him whether she could have believed him.

I said to you, “ [ don’t believe you.” ‘ : i

(A) Itold him that he didnotbelievehim. - (B) = linquiredifhe could believe me.

S-VA

(C) Itold that he does believe him. (D) Itoldyouthatldidnotbelieve you.

gt oo fiw @ g9 de A : , ,

(A) FIzT@ w 8) fvmy iy (C)  vaW fAwr (D) =& fiw

Js whm er s as: =
AeS Afaat

1. gAFUBE  [a  FOEI

2. 9&F9 ¥ar  |b.  II& TGS

3. WHYHIE |c. JYIEs’

4. wEMWETa |d  mfde g i

(A) 1b,2a,3d,4c ' -~ (B) 1b,2a,3c,4d

(C) 1a,2b,3d,4c - (D) 1a,2b,3c,4d
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28.

29.

30.

31.

32.

ﬂu’faHHHsza‘a
() et fist, mwwémﬁafeveﬁm IH T

(i) et 9799 few roadt AfgSt =@t 22 g fod few 3

(iii) Teret Tfamrer, fovmas w3 fe'sd few oot Aoardt g §

“(iv) unm’te“rvsﬁqfev ufaaﬁ‘we*&’tnfas’r:r

(A 1,il MJiv (B) i,iiimIiv (C) ATIT (D) iMIiv
8w fi'y a9 wrfow e & €F fagt o Aoy wia A3t d@fs mirle v res fed 3
# ggefams () I ITTEUES
(C) g TgTfe (D) q19 Tgaifie

2011 €1 A&-IEET € WU I AT T8S HPH &9 -
(i) Ty few fdar nizurs 940 3
(ii) Ume fe9 Amya3T 76.68 % I

(iii) U7y few wigdtads Meurg 29.55 %

(iv) Grg e 7ars wUls 439 20.64 % I ,

A LiiJii (B) i Jiii (C) i, iii@nv (D) iiimMIiv
faug wfog efenr fammm & fasemt Gua Afea T&: .
(A) THUT I Hodht '

(B) fewstI qusasT

(C) dFftess afog W3 FSITSUT BUT

(D) i JeSIEUT S I95 IS

e e gger 3

(A  fame € 5% JUTT, 5% JF M3 2% TS

(B) Tem= &1 2% Jum, 2% JET M3 1% TG

() femz &t 3% JUTT, 7% T M 2% TS

- (D) fem= & 1% qUT, 8% FET M 4% TS

33.

34..

- 35.

36.

37.

S-IVA

fefgora ‘faegre € 79’ ??UEW‘&IWFF’GTU

(A) wrEéeyd Afog - (B) w3fgerg wifoe
(C) WaIwd Afod (D) 3TI& 3796 Ao
szowaﬁm%mmmﬁa ‘
(A)  HEETHTEHT . (B) MW, MY, TA"
(C) THUS ‘ (D) /g, &IAHTT

grufgarerstenfan g mmemgwmeﬂwm
famr 3

(A) TS | ~ (B) TS

(C) ST ' (D) eEHTEIAT TIBF

7% 2013 feg yarag gHedt AU AIQ name’rmmxmmfnauﬁafema?ﬂme
mfe?hwmummfevw@?a

(A) MHITHST (B) THIIF (C) de® (D) HUyEw
93 fan € AT T 37 §gurea w3 Gusat & : ,
(A) T (B) o=t | (C) ¥ (D) T=TH
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38.

39.

40.

41.

42,

43.

44,

45.

46.

47.

48.

49.

50

S-I/A

mma 13 g8 1977 fe'ewaafevfapwml Ha6<dt 1980 feg, yos ot
feregr gt & fen & H‘smmwmaﬁ?| g Moy dE I mrefenaunrg
mwmmwm BT

feSgrg= - (B) WEgEW  (C) Afrig 3 (D) ummm
msm WWW(UAV)WHEEW@EWWHE%%W%HWI
few v &7 & At

(A wEEs (B) fsmwz (©) fema* (D) BEHE
(A) MUIS 1957  (B) WEIH 1955 (C) WMuIH 1951 (D) ™MUI® 1955
gat v feaws fag algrater §: S ,

(A TEUT (B) fesims () uldws -~ (D) w=Et
@ It gegdmt gt (B) Tust gEs ot gt

(C) uast g9z et gt (D) UM I It g

AgggsT yust fug 2011@?{?§ew 93 T———— A5-TT&TH:

(A Tast (B) =B «(C) w3 (D) &=t

mwﬁ6wwmﬁwmm3€mwm quwfa?;?;ferm NEE
5 A% 13T

(A)  42-T" wmF 43-TF (B) 44-=t mF 47-t
(C)- 42-Tt WT 44-Tt (D) 42-=F mT 45-=

-gweq fuzT e gasifsa gy de A , B ;
(A)  HE=PT (B) dJu& (C) wEgEl &ddAl (D) FIETULH
fouz fewadt e a3-myo, fan &t F3-myo o8 ﬁ%vrrarsﬁwa—gxﬂa?zr

A A . (B) AB : ) B (D) ©
<ofeQd feQy &t 2ad faw = w3 st At & o

(A) me’rwg HUE BEt (B) ferm ggsT & WuT wet

(C) wESIr§ Wuess oo (D) meu—@vxmm =
mmmmemm T HIW’ ?mmfw@ne’rfﬁms’rwaa fev
fou fapr 3 ,

A wEEHs  (B) SUB IS (C) hnfe-om '(D)‘gaamra‘f‘eﬁ
ISRO ®T Ya& gu &t &: ' | ' e
(A International Scientific Research Oxgamsatlon g ' . e

(B) - Indian Salt Research Organisation
(C) Indian Space Research Organisation
(D) International Space Research Organisation
wigagHedt 32 sets € ueHt At I ufust sarfewr aqt +)WBE%(’H€EHH‘36¢3€TU
(A Ffafeg adt yug g9 SET were T et dfewt o Afunr
(B) . aﬂwfa'e' mmmﬁﬁémww&we‘rw
(C) ygr
fE?yr feg are°r Silenigh)
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51.

52.

53.

54,
55.

56.

gﬁ;feawfa?MH@aaalwfwwwﬁ@mém@@ﬁwfﬁw

Z_25YB23XC_W_ 19 E17 _ '

(A) A,21,D,V ®) A27,C,V (O X,21,C,W D) X,27,E,W
ﬁﬁmh?ﬁamﬁwaafﬂﬂwweh@ﬂ?mmma%
fes g ugs: sy

(A &7 faudt -~ (B) A& : mfgmmus

(€) =TA®:MEBI (D) &7 : fefonpgat

Ew wae-nye & 9T 99 fam et o3 mee-Ryo M @t AT 39

fes e — Ag3G: et e

(A) FHEd AU :HEIH : §€99rg (B) HOI3T: SOUT : W

(c) Amw: fest: adt (D) Haw-G¢: Toifdar: hay

fas He e g4 '

() S (i) HTHH (|||) USar (iv) Hed (v) Hadt

A ) (B) (i) (C) (v D) W

Joi fie'T wa et fed, f3s er &et &7 vt A8y 31 €9 g ey a9 fan e iy fis &

(i) FT7: I (i) AfS: g% (iii) FAS : MeHt (iv) forg - Aos ’

A 0 o (B) (i) - (C) (i) ' (D) (iv)

feg afgar gmr fog, widiHt 29anw®T € nivgt § fen ygrg ety fedt At O fg Ad et
HW%WWUWMWHWWB‘WWEWWW
oSty fodt 7t §1 Uso-Iadhdt TaaHwe € T93° UE TFeHER! feu niudt ¥

- FIE Afadt § wowge B gt AEt 31 METAET s ot O

57.

58.

59.

S-I/A

(A) TEAM (8) PWLV (C) LWPVY =~ (D) QGYB
FEE VOCALIST & fftmr—gu few fatii fen @ 99 »ivat § Qaéqwfaqfwﬁrm—;rfaa |
IS WWH@WWW@WWHW :

1Stgtg,0octgt 1, Ldt w3, Ttaro, varar s, S&ta 7, ATt omI CHAT 6
(A) 92156873 (B) 96152783

(C) 92516783 (D) 92156783

fea faim gz a9, ‘leerade’ TTHIBE T ‘what was it’, ‘mo nil’ € HS8¥ J, ‘you go’, ‘nil pom
ta’ ETHIBE T, ‘youlikeit’, M3 ‘tok le fo’ TTHIBEJ, shewass1ck’5’)’-ﬂ‘@ﬂ3‘fﬂ"f¥6’ ‘what
youlike’ & fa= fodar: ,

(A) de nil pom ~ (B) nilra lee

(C) pomnilra (D) WEAIFEFTAEITS
maﬁ:ﬁrfr gt ot W At T & feargat 96t 37 avw v oSt a7 ot farsT &
(A) Ter (B) fuzr (C) WM (D) 9gar

23 _ (Contd.)



so,

é‘f?’?ﬁ?’i"ﬂ"ABCDEW F& ufaewfeqwmme?mﬂfwraa
@ yIT w3 fergdtor & Afonr mrs T

(i) AM3 E,F @ 8235

(i) B,A T€TEST T ;

(v) Dfeazaa wfeaasa’re’rmzr

) 7= ufseg feg feg fenrfonr Far 3 ,

Sudss fed fauar fea fomaan afewr 7 rawr 37 ‘

(A ABmM3CHgfersdtas (B) A,D Tvultd

) DFRIAT (D) EwI ED2EIT

61.

62.

H‘A$B’ ETHIBH T, ‘AB’ T FE I, ‘A@B’ T HIBE I fa AR’ € uzst J, AW’ T
H'amrtr‘ABeTaz’tzr w3 ‘A+B’ T HIBH T, ‘ABE"’ﬁIETU sTfrsfsu‘Mrrfévfaas”r
@as‘tfmme&*maaﬁra ‘KHETHWU’?'

) H@J$L#P+K : ' (B) H@J$P+L#K

(C) H@JISL#K-+P , "H@PS$JI+L#K
afenat, SsTdt AR T, f?—TUBTWE’TfHH‘c‘H fes-wmr g, u‘la';r H@ﬂuwﬁrsw ME T

- feaggrgar |5rfawa°rewmarma°rfaﬂwzr

A THFS L '_'(B)U‘;-B?ﬁ

(C) wnie ! & (D) W
UHS 63- 64mﬁfrarfer3°r HOsT v wifeds 99:

- POQRS,T,UV wwmmmhﬁmm%ﬁﬁwwnama&ml
o) WPEMESBYIURY, weTH S Ta st T :
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